EARAROBEEIERT — 2 N— IBISH —F

201853/ 1H (K) 26@EZHE4H

m BO# #5%—M B R
[AE£] 1% :220,000 ™ ~ 2#&:55,000M”  337%&:22,000 W . 43%&:13,000 M 53 :9,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— o4y 1 _EBLE :31. -1-1- . — WinE— (BHE)
, NEZrTE o4 HE 1(3_1)4 1-1-1-1 | 39.3 4 :7;) T-E%E:%
R:FHYRTIRE BRA— b T AN SPEUL ]
o o FTzE :32. —-3-3- . — MTEA (BEE)
ol7| 7| 7%vB k-0 it 4 e 1(352)5 3-3-3-2 | 39.9 1 (4+512) *%;—é_
R —LTv—=— B AT H HiE  ERA
3l1]1|»Ft—5€7>H 4 8 %ﬁgi 1:(35.6 8-8-8-4 |40.2| — 6 5225 gégﬁ (BEE)
ik TA MTIN BRFLITUZ (2 HET7— L
j 5 s 4 | HHEA 1:33.6 6-6-5-5 |40.7| — 3 456 | BETIBE—5 (BHE)
4|5/5|T77ZM1R 54.0 () (+3) | EEER
RiN—E>Tv— BEZRIR-L J—H Ty — I
SFZ S 4 5 | FEBME 1:34.2 7-7-7-6 | 41.0| — 7 369 |EHEX (BHE)
5/8l9|AvFrv 7 54.0 3) (+2) s
Lxoovd/x€x Bov 744 RE &R
= B 5 | KRR 1:34.5 2-2-2-3 |42.0| — 5 406 |BRBIX (BHE)
688 YTH77 %63.0 (1'1/2) 43 | EERE
R:YIFEYIR B:HITE2—F 1 Fht Ak
S 6 | SHEKX 1:34.8 4-4-4-7 | 421 — 2 513 |MTTFEAN (BEHE)
7 6| NILAX—I 54.0 (1 1/2) (+3) | MM
R:N—=Y7514 B:I>KLAYIIZX )1 &%
Pl = 47 | AUE— 1:35.5 5-5-6-8 | 42.5| — 8 422 | EHEX (£R)
8 3 TJVF4ILAHR 54.0 @) 2) (%) 77_/} RES S
R:bhIA4=Z2d B:TUFATIER HET7—L
= f 8 | DNEEEE— 1:35.6 9-9-9-9 [41.0| — 9 489 | HFLIE— (BHE)
N : PIEEER e 54.0 (1/2) 45 |BBET
A4 R-—5— B:ax7a74+147F ErNRT7—L
® I—F—@EBIERL
13—7F— 2,8,7,6,3,5,9,1,4
Ao=5"= 2,8,7,6,3,5,9,1,4
T =35r= 2,8,7,6,5,3,9,1,4
41—F— 2,7,8,1,5,9,6,3,4
[ N5
B 2 1,020/ 794K 2-7 270M & 2-7 740M &R 1-2-7 2,480/
% B 2 160 1-2 90| | B = 2-7 560/ | | SEE 2-7-1 13,380
7 1004 1-7 590M B H 2-7 1,820/
1 280

ABICOVWTRDTEEERROODE. TR LIV,




